

ΛΥΣΕΙΣ

1. $Ta \frac{10}{10}$ είναι 80 κ.

$To \frac{1}{10}$ είναι $80:10=8$ κ.

$Tu \frac{7}{10}$ είναι $8 \times 7 = 56$ κ.

2. $Tu \frac{10}{10}$ είναι 60 μγ.

$To \frac{1}{10}$ είναι $60:10=6$ μγ.

$Ta \frac{3}{10}$ είναι $6 \times 3 = 18$ μγ.

3. $Ta \frac{12}{1000}$ είναι 48

$To \frac{1}{1000}$ είναι $48:12=4$

$Tu \frac{1000}{1000}$ είναι $1000 \times 4 = 4000$

4. $To \frac{1}{2}$ είναι 115 κ.

$To \frac{1}{2}$ είναι $115:1=115$ κ.

$Ta \frac{2}{2}$ είναι $115 \times 2 = 230$ κ.

5. α $Tu \frac{5}{5}$ είναι 100 xp.

$To \frac{1}{5}$ είναι $100:5=20$ xp

$Tu \frac{4}{5}$ είναι $20 \times 4 = 80$ xp είναι ο ηττημένος

β. $Tu \frac{5}{5}$ είναι 80 xp.

$To \frac{1}{5}$ είναι $80:5=16$ xp

$To \frac{3}{6}$ είναι $16 \times 3 = 48$ xp είναι ο ηττημένος